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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - 4 - EXAMINATION - WINTER - 2017

Subject Code: 3341103 Date: 09-11-2017
Subject Name: OPTICAL COMMUNICATION
Time: 02:30 pm to 05:00 pm Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SEURL ULcloll Lol AU 14
On which Principal Fiber Optics work?

SLB01R W (R s sl Rl GUR LM 53 B?

What is Snell’s law?

WA ol Ran 9f &2

What is an index profile?

Index profile }2A 92

What is intrinsic absorption in optical fibers?
AUlRsc slsoR Ul SBs Aorelad Aed 92
List the uses of optical fiber.

R SA $IBUR oll GUAOL Al

What is the need for fiber alignment?

SLSOR AN ofl w3RaUd 9 &2

What are the methods of fiber splicing?

fiber splicing Hi2o(l qas s&5 B2

What do you mean by direct band gap Materials?
SlARSE Aos AU MR AeA 92

What is DWDM?

DWDM 2@ ¢j?

What are the methods used to measure fiber dispersion?
SLB01R (Suuglot Miual Mol Aus ¢ &2
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Would light be confined in an optical fiber if the total internal reflection 03
phenomenon did not exist? Explain
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YaL. R ol A2 Fo2ete] RsAsAA ol Uq Hlal Al clfe MRsAH SlBUR 03
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Differentiate between Meridional rays and skew rays.
Meridional 4\ skew o{l AutHQ(l 53

Why step index single mode fiber preferred for long distance
communication?

Al 51200 AL [ 51YABAat M2 Rotet 1S slewR ol uieoll

scHL MA B2

OR
What is the difference between intermodal and Intramodal dispersion?

o2 HISH UA oA I [BAUet oll dASlelct AL,
Explain graded index fiber
A3 SdsU SLBCR (AA UM A

OR
Explain step index fiber

RU Fod5U $LO0R (A uMesal
What is light scattering? Explain in detail
clese BeRar A2 92 Qe &l UHesAl .

OR
What are material losses? Explain in detail

WiRauc AR AN2A 97 [Qcr ol umesdl .

What is the function of coupler? What are the different types of optical
couplers?

WRSA SUAR of 5120 9 B? el el WRSAH SUAR sl B?

OR
List the features of optical connectors

URsA sase ol [QAAMAL ARseIRRs dunl

What is meant by hetero-junction diode ? Make comparison homo junction
with hetero junction

&2 ¥sAct stAlls AeA 92 Sl ¥s2et ol &23A As2at SIALS AA

AuHR( 53 .

OR
Explain stimulated emission with the help of energy band diagrams

R1yAZs SRt At Aos staolH ol HeE &l uml.

Explain the mechanical slicing method

M3ellscd USRI Aasal AHestAl.
OR
Explain the structure of fiber optical cable with diagram

SLE0R AREA  F0ict oll RsURA SLAUH ofl HEE Yl uHAl
Explain the construction and working of PN photo diode
12l SIS of 5ou25Aot el sl AHHlA

OR
Make the comparison LED with LASER diode

LED ¥l LASER St20s ofl ARuwHQ(l 51
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What are the three requirements of Laser action?
Laser action 112 o{l %3R2Uld 9 B?

OR
What are the necessary features of a photo detector?

512l (32522 H2al 33 (AAMl ARs2iRRs 565 &2

Draw and explain working of LED driver circuit for analog Modulation
UAAI HSYA HI2 LED SlefalR A8l dgl A A1l

OR
Write short note on beam splitter

(@ rcdle: (QQ gsoll el
Explain the double crucible method with diagram
SOA sRGA HAUS o (Aoldalr sl WA yHesAl.

Draw the block diagram of optical receiver
ARsA RUlaR ol odls stauauu €1
Write short note on optical power meter

AURsA waR MeR @ gsallu cvll
List the advantages of WDM

WDM otl $lRAEL AW,
Which are the Techniques for Attenuation measurement?

Attenuation measurement H12o{l JuUS 5& —s¢5 &?
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